Total No. of Questions : 10] [Total No. of Printed Pages : 7
(2034)
UG (CBCS) IIIrd Year Annual Examination /

3090

B.A. HISTORY

(Modern and Contemporary World /
History-1 : 1871-1919) '

(DSE-1A)
Paper : DSE-IA : HIST(A) 305

Time : 3 Hours] [Maximum Marks : 70

Note — Attempt five questions in all Section—A is
compulsory which has two parts, attempt five
questions out of eight givén in Part-I and attempt
four questions out of siX given in Part-IL. Atte;rr}pt
four more questions, selecting one guestion from

each of the Sections B. C: D and E.
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Section—-A (GUE-3)
Part-1 (9191-1)
Compulsory Question
(Afrard uy7)
I. 1) What do you mean by Modern History ?
Yy sfaerm @ =1 ofyug & 2
(1) Who was Cavour ?
FER HHA 91 ?

(iii) What do you understand by ‘Scramble for

Africa’ ?
‘SR B e’ ¥ e s EEy § o
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(iv)y What is Socialism 7
GLIEEICEE I

(v)  Who was Dr. Sun-YatSen 7

2l wA-qa-HE A | 7
(vi) Treaty of Barlin 1878 A.D.
afem #1 afa 1878 3.1
(vii) Russo-Japanese war of 1904-05.
1904-05 =1 ®G-SM9H 45|
(viii) Who is the founder of Wafd Party ?
g% WF @ HEATE HEA AT 7 2x5=10
Part-11
(wr-11)
2. Short Answer Type Questions (25-50 words each) :
o7 It & I (25-50 W=l H) AT
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) Joseph Mazzing
SEE dfr
() Kulter Kamph

T Ay

i) The Kuum‘n‘uang Party

(v} May fourth Movement

f Karl Marx

{73; League of Nations
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Section-B

(@uz-a) 10x1=10

3. What is contemporary history ? Explain main features
of contemporary history.
faorarell @1 v SifSu|

4. How did Bismarck Unify Germany ?
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(WUs-H) 10x1=10

5 What were the causes of Sino-Japanese War of

1894-95 ? What were its results ?

9 3t SO 1894-95 3. & Jg & H&I HRI H
q ? zge @ gfom fed ?

6. Discuss the expansion of America in far east.

safr ® g qd fawar @1 aud i
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Section-D

(@vs-3) 10x1=10

Analyse the main causes of the Russian Revolution

of 1917 A.D. How this revolution was successful ?

1917 5. & &6 & ®if & To7 o001 71 3 7 =8
wif fve voR wwva @@ 2

8. Lenin had introduced ‘New Economic Policy’ in
Russia in 1921 A.D. How it changed the Economic

Policies of Russia after Revo]ution ?
a3 1921 ® ‘7 onfde fifa’ v § g w0 few
YR qE 6 F A Afdl B hif & AR wwe
d wra W7
Section-E '
(TUS-3) 10x1=10

: 9
9. What were causes of the First World War of 1914 7

:
l914é.a%uuﬂfasa*$wwmﬁ.
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10. Describe the main terms of the Treaty of Versailles.

How far were these terms just ?
sata 5 Gty F w6 & I FIAC A W HE T
=gl of ?



